
Sys. Nr Szt. Nazwa Materiał Pow. [m2] Pow. całk. [m2]

WK 1 1 Łuk asymetryczny alfa = 90 a = 315 b = 345 d = 800 e = 50 f = 50 r = 50 ocynk 3,20 3,20

WK 2 1
Prostokątny króciec 

elastyczny
a = 800 b = 315 l = 150 ocynk

WK 3 1 Przewód prostokątny a = 800 b = 315 l = 1779 ocynk 3,97 3,97

WK 4 1
Redukcja 

asymetryczna
a = 800 b = 315 c = 1200 d = 400 l = 600 e = 85 f = 0 ocynk 1,92 1,92

WK 5 2 Łuk asymetryczny alfa = 90 a = 800 b = 800 d = 700 e = 50 f = 50 r = 50 ocynk 3,83 7,67

WK 6 2
Prostokątny króciec 

elastyczny
a = 800 b = 800 l = 150 ocynk

WK 7 2
Redukcja 

asymetryczna
a = 800 b = 800 c = 800 d = 1200 l = 519 e = 200 f = 0 ocynk 2,08 4,15

WK 8 1 Przewód prostokątny a = 405 b = 500 l = 206 ocynk 0,37 0,37

WK 9 1 Łuk asymetryczny alfa = 90 a = 500 b = 405 d = 710 e = 50 f = 50 r = 50 ocynk 3,13 3,13

WK 10 1
Prostokątny króciec 

elastyczny
a = 710 b = 500 l = 150 ocynk

WK 11 1 Przewód prostokątny a = 710 b = 500 l = 1789 ocynk 4,33 4,33

WK 12 1
Redukcja 

asymetryczna
a = 710 b = 500 c = 1200 d = 710 l = 598 e = 210 f = 0 ocynk 2,28 2,28

Wymiary


